

● Finally, we prove the estimate from above in (63):

$$[T(\frac{y}{\lambda}), (\frac{y}{\lambda})] \stackrel{(iii)}{=} \underbrace{[T(\frac{y_0}{\theta}), (\frac{y_0}{\theta})]}_{\parallel} + \underbrace{[T(\frac{y_H}{\lambda}), (\frac{y_H}{\lambda})]}_{\parallel (ii)}$$

$$((A-A_0)A_0^{-1}A y_0, y_0)$$

$$((BA^{-1}B^T+C)\Delta, \Delta)$$

$$\parallel$$

$$((A-A_0)A_0^{-1}(A-A_0)y_0, y_0) + ((A-A_0)y_0, y_0)$$

$$(A_0^{-1}(A-A_0)y_0, (A-A_0)y_0)$$

$$\lambda \leftarrow$$

$$\frac{\alpha}{1-\alpha} ((A-A_0)y_0, y_0)$$

$$A_0^{-1} \leq \frac{\alpha}{1-\alpha} (A-A_0)^{-1}$$

$$(1-\alpha)A_0^{-1} \leq \alpha(A-A_0)^{-1}$$

$$(1-\alpha)(A-A_0) \leq \alpha A_0$$

$$A-A_0 \leq \alpha A$$

$$\frac{1}{1-\alpha} ((A-A_0)y_0, y_0)$$

$$((A-A_0)(y-y_H), y-y_H)$$

$$(1+\varepsilon)((A-A_0)y, y) + (1+\frac{1}{\varepsilon}) \underbrace{((A-A_0)y_H, y_H)}_{\parallel (50)}$$

$$\propto (A y_H, y_H)$$

$$\propto (BA^{-1}B^T\Delta, \Delta)$$

$$\leq \frac{1+\varepsilon}{1-\alpha} ((A-A_0)y, y) + \left(1 + \frac{\alpha}{1-\alpha} (1+\frac{1}{\varepsilon})\right) ((BA^{-1}B^T+C)\Delta, \Delta)$$

$$\varepsilon = \sqrt{\alpha} \quad \frac{1+\varepsilon}{1-\alpha} = 1 + \frac{\alpha}{1-\alpha} (1+\frac{1}{\varepsilon}) \Leftrightarrow 1+\varepsilon = 1-\alpha + \alpha(1+\frac{1}{\varepsilon})$$

$$\varepsilon^2 = \alpha, \text{ i.e. } \varepsilon = \sqrt{\alpha}$$

$$\downarrow = \frac{1+\sqrt{\alpha}}{1-\alpha} [((A-A_0)y, y) + ((BA^{-1}B^T+C)\Delta, \Delta)] = \bar{\gamma} [\tilde{T}X, X]$$

q.e.d.